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Please state your name and business address.

My name 1s Dwight Work. My business address 1s 206 Capitol Boulevard, Nashville,

Tennessee 37219-1801.

Are you the same Dwight Work that pre-filed direct testimony in this matter on

behalf of Jackson Energy Authority?

Yes, | am.

What is the purpose of your rebuttal testimony in this docket?

I will respond to a portion of the pre-filed testimony of Mr William J. Barta, specifically his
comments regarding the network investment assigned or allocated to the Telephone
Business Unit. The implication of Mr. Barta's testimony appears to be that Jackson
Energy Authority ("JEA") is somehow trying to be deceptive in the way the business
model I1s structured or that JEA has somehow structured its business model to remove it

from regulatory oversight of the Tennessee Reguiatory Authority (“TRA").

Before we get drawn into this forest of implication, we need to step back and look at the
realities of the regulatory requirements The TRA does not regulate the rates of a
Competitive Local Exchange Carrier (“CLEC”), a carriers’ carrier, a cable system, or an
internet service provider. The regulatory focus is to keep captive customers of regulated

enterprises from subsidizing the competitive operations of a regulated enterprise

The captive customers of JEA are its electric, natural gas, wastewater, and water
customers. The competitive customers of JEA will be its cable, CLEC, and internet
customers. The regulatory focus then as well as the focus of JEA 1s to make sure that
procedures are in place to prevent the improper subsidization of the competitive

customers by the captive customers during the normal course of business
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Does JEA have those procedures in place?

Yes they do We have developed a Cost Allocation Manual that will prevent or Iimit, to the

extent possible, this subsidization from taking place.

Does it matter from a regulatory focus that the Cable Business Unit owns the

assets?

It does not. The regulatory focus is the same no matter which business unit owns the
assets. The focus I1s to limit subsidization of the competitive division, In this case the
Telecommunications Division, by the regulated divisions of JEA We have accomplished
that through the Cost Allocation Manual. In fact, | belleve we have gone furtl';er than

required.
What do you mean?

I am not convinced that the TRA has any interest in the allocations within the competitive
dwvision (the Telecommunications Division) However, the Board and Management of JEA
are interested because they want to know how the business units are performing Good
decisions can only be made with good information Since we developed the factors for
each business unit, we filed this with the TRA for information purposes But, | am not sure

it is required.

Let us assume for a moment that the allocations within the competitive division are
of interest to the TRA. Does it matter that the telephone business unit owns none

of the plant assets?

No, it does not
Will the Telephone Business Unit use the assets?

Yes, it will.
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Why, then, does it not matter?

There are at least two approaches in dealing with depreciable assets that have a
common use. One approach is to allocate the plant to each entity that uses the plant
There is nothing wrong with this approach when the use is constant over time or is
anticipated to be constant over time. An example of this might be an office building for a
utility that provides water and wastewater service to its customers The water service
personnel occupy 50 percent of the bullding and the wastewater personnel occupy 50
percent of the building. In this example, one might allocate 50 percent of the building cost
to each division. The cost remains constant, annual depreciation expense remains
constant, and accumulated depreciation is charged with the same annual depreciation

expense each year.

The second approach is to allow one entity to own the asset and charge a rental fee for
use of the asset. This approach 1s more applicable than the first approach when the
potential use of the asset Is subject to change. The JEA model 1s an example of this
approach. In Year 1, the Telephone Business Unit may use 5 percent of the bandwidth
that is used by the Telecommunications Division. If we follow the first approach, we
allocate 5 percent of the plant, depreciation expense, and accumulated depreciation to
the Telephone Business Unit. Let us assume that in Year 2, the Telephone Business Unit
uses 10 percent of the bandwidth used by the Telecommunications Division Again, If we
use the first approach, we will have to allocate 10 percent of the plant in service,
depreciation expense, and accumulated depreciation to the Telephone Business Unit
This reallocation process has the potential of continuing each year that the
Telecommunications Division is In existence It creates problems with monthly
bookkeeping, monthly reporting, and decision making The better way under this scenario

is to charge a rental fee for access to the system. This Is the method JEA used
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Does the rental fee paid by the Telephone Business Unit fully compensate the

Cable Business Unit for use of its system?

Yes, it does JEA asked me to take an independent look at the access amount paid by
the Telephone Business Unit to determine iIf it covered the fully distributed costs of

accessing the system.

How did you do that?

| developed carrying charge factors to estimate the revenue requirement of the annual
additions to plant that can be jointly used by each business unit within the

Telecommunications Division.

What is included in these carrying charge factors?

The access charge includes. (1) a return on the investment, (2) taxes on the return, (3)
annual depreciation on the investment; (4) property tax on the investment, (5) and,
annual recovery of all cable-related charges, excluding expenses related to

programming.

Is this an appropriate way to develop the carrying charge factor?

Yes, it is, with one possible exception. My carrying charge factor includes allocated costs
from the regulated divisions that are included in administrative and general expense In
the Cable Business Unit. One would not normally include these costs in the development
of a carrying charge factor because they are also allocated through the cost allocation

manual. | have not been able to completely identify these costs to strip them out

How are these factors used?

The factors are multiphed by each year's addition to plant to determine the revenue

requirement associated with the plant
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Is there another step?

Yes, there i1s. Once the revenue requirement is developed, it must be assigned to each of
the three business units of the Telecommunications Division Management of JEA
informs me that 40 percent of the fibers from the head-end facility to the core can be
used by telephone and internet. We then used the business model of JEA to develop the
estimated telephone usage versus internet usage of this 40 percent. We muitiplied the
estimated customers using various bandwidths for telephone and internet to develop an
estimate of the annual usage. | have attached a schedule as Exhibit A that shows this

calculation.
What did you do next?

We multiplied the revenue requirement by the percent of usage associated with the
Telephone Business Unit to obtain the annual access fee required from the Telephone
Business Unit | have attached a schedule as Exhibit B that shows the result of this

calculation.

Mr. Barta has criticized JEA because the Telephone Business Unit has no

employees. Do you view this as a problem?

No, I do not The Telephone Business Unit will receive the allocation of fully distributed
costs of employees In the regulated divisions of JEA The Telephone Business Unit will
also pay for their appropriate portion of the employees that are directly assigned to the

Cable Business Unit through the access charge
Does this conclude your testimony?

Yes, it does.
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